SEIRY) > ALt &

FEE A
A
A pE:
TR
(=) - 422 gt
1~ &% i 3rjcitic: 0
2 B3 0 Fyeiti 0
3~ A7 Rk fRdk 0
4~ ByEe = Ja(14243) - 0
5 6P P F e pREEE s F B dEp A (5/8) 0 0.00%
6~42E6P 230p #F >y Ea P Ehp A (6/8) 0 0.00%
7 AZE30P F 2RSSt P F e iy At (7/8) 0 0.00%
S 2R (516+7) ¢ 0 0.00%
9\;;&@:%;;@@ po#c: 0.00
0~dz~ 5 A Hac: 0
1~ £ & 7R 0
Bt atE (8+10+11) b EyEe 2 Ry At (12/4) 0 0.00%
3 Eyeit ik (4 12) ~ & &0 yeo 2 gdcp A (13/4) 0 0.00%
14 ~ X35 P g “fl%?ﬁiﬁt : 0
15~ & ¥4 P32 Hp P EFPit g . 0
(z) =4 R Faseay
[~ &7 3Tfcitfic: 0
2~ B3 F1 Fyeita 0
3~ ByEiEac(142) ¢ 0
4~ B8 ey iz iy s (5/(3-14)) ¢ 0.00
b R Uyp it~ b A0 ByEit g 4 v (5/11) 0 0.00%
6@ #op P PR R A IPRE 2 A (6/10) 0 0.00%
7 WlAZEOP 2 10p PR & ﬂt‘éi““#*niﬂtp e (7/10) 0 0.00%
~ W PUARIEIOP Z15p RS Pl F S UyRS 2 A (8/10) 0 0.00%
f‘”’iaﬁlm PR Ee s F @ IpRg dgeE 4 (9/10) 0 0.00%
10 W 4 B (647+4849) -~ f%i ig:p Aot (10/11) 0 0.00%
11~y s 3 (54+10) > & ayea < g 4 v (11/3) 0 0.00%
12 3= Ta* p i 0.00
13~ #Foitde (3-11) ~ § Ry sy » ¢ (13/3) 0 0.00%
14 ~ X432 8y U F Pt e ! 0
15~ @ P42 Hp PRt g ¢ 0
(Z) 4 ghidnt
JENESEIPE (e SEE o 0
2B 3T Fyerk it 0
3~ Byl itdk (1+2) ¢ 0
4~ B RyERE2EAPERE S (5/(3-9)) 0.00
by k Bde s F RR R EIE A (5/7) 0 0.00%

18



SEIRY)

7.
Bk (516)
kg (3-7) ~ 4

|,
v :

TeyEs |

PR P S AT
: Pr% i
=

A W yETE 3y

Fpak g

N~ EEIT LIt £

)

6
1
8~ ¥
9~
1

0~ 2 AyERHp A Fyes i

4~ B eyek it 2 e s (((5+46) / (3—11) )
D3P RUpRp R il yRe R P aE A (5/9)
635 2 Apktk 2l Fyrkd ity A (6/9) ¢
T4 3~5 " f¢¢$&$t~g?ﬁg$iﬁqg¢w (7/9) :
8~ bHiE* yrg k& &,J%%%ﬁﬁﬁf‘LL(W9)

9 \?¢:L+wf§k(5+6+7+8)\ m%f%%-i E'QLL(9/3)

10 ~ #Fyek 2 #(3-9) - yER 2 ggp A0 (10/3) ¢

11~ Ay iy ,3‘:—;‘%’%;%&@;;:
12~ ¢ Ay UFyek 2k
13~ &7 x4 &

N\
(%]

’

=

\d/ (uj
EORrS &
¢ g =T

/
o
-4

e

’

T b= s
W -
#

= =
P

’

& w Fg o

(PR T

pu)
:w;g;g
‘1%%% EL
,ﬂ/\/\ T W ® o~

w— ;'-g:
fr
i
1\‘5 =

’

—_ O 00 -J O U1 &~ LW DD —
/4 ’
B
-

/\
| o
¢
(=%
£ 3
\

= QW DN — oL
Bl
e

P T
L
=

{
=
§
& .. .o
“1\\-

W -
Fow
g o A

FEE AR
=R A L I
A pE:

At (8/7)
Bp A (1/3)
gt (8/3) ¢

BRI TRk

< (5/(3-9))

< g E At (5/T)
iﬂ‘iﬂ st (6/7)
it At (7/3)
< it deE At (8/3)

3 (5/(3-9))

19

o
o

OO O OO OO0 O0OO0OO0OooOo

o
o
Ooocoocoocoodooo

0.00

O OO oo

o o

0.00%
0.00%
0.00%

0.00%
0.00%
0.00%
0.00%
0.00%
0.00%

0.00%
0.00%
0.00%
0.00%



('t ) o EEd Lt £

FEPH
BABM
gApP:
b~ B MyRR R Jﬁé,i&pﬁw(WU
6~ 8" yklg Rk i H“%%Zﬁiﬁtpﬁ” (6/7)
T yplgR e (0+6) ~ & ok gy » v (7/3)
8 Fyek ui@:(3 T) ~ & ek ﬁf»ﬂ mot (8/3)
9~ RGyEL Y’ 3#%*&
10~ & sy gy Y el 2 8
(=) ERFiEagy
SESLIE 7 = RES 3
SR ek R

1
2
3 Meyed i (14+2)

4~ B feyed 2 ek d (5/(3-9))

5k UpR ks bk g A (5/7)

6 G PR e~ PRR R AT A0 (6/7)
T~ prgkitge (5+6) ~ & ek tdgp ~ v (7/3)
8\,3?%$ L (3-T) ~ b eyrk i iE A (8/3)
O~ i PEE B LA PER 1 H

10 ~ & b PEm Y LB % 2

P P

3

R
4%

&=~
:“3“\; ..

20

WM H £

O OO O oo

OO OO OO0 OoOoOoOo

0.00%
0.00%
0.00%
0.00%

0.00%
0.00%
0.00%
0.00%



